(. NP - 176

lll Semester B.A./B;§9__f})8E;émination, March/April 2023
(NEP) (Freshers) (2022-2023 and Onwards)
PSYCHOLOGY
Paper — 3 : Child Development

Time : 2% Hours Max. Marks : 60

Instructions : 1) All three Parts are compulsory.
2) Answers must be written completely either in Kannada

or in English.

PART - A

I. Answer any four of the following. Each answer carries two marks. (4x2=8)
00T T, T, MR eV 0. T, S030T eV TTR, QT S0BNTD.

1) What is longitudinal method ?
OOWRRCE DT DOTTERD ?

2) What is Brazelton’s assessment ?
%3, BPOR* BT 0BT ?

3) Name any 2 disorders of childhood.
2RO, T CINTOTTR TR eﬁa’mmséécms% HBROX.

&

4) Define empathy.
wmoéo@mm\%oda@( 239, 39, QA

5) What is scaffolding ?
2} ?S@C’@@Oﬂf Q0BT ?

6) Expand ADHD.
ADHD &), DFHOX.
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PART -B

Answer any four of the following. Each answer carries five marks.
O3RRYTITTH T, ag,ég ner Vg0, B,3030T0 erogdﬁ:% 0T 90BN,
1) Explain the research challenges in child development.
DTS WFTEINRODY WoZeersHo ATDINTI), DO
2) Discuss the germinal stage in detail.
TEFISE TOBTITY, IeIToN WSFR.
3) Discuss the effect of tobacco and alcohol in prenatal development.
T, NDRIF LTSI BoeTsd 08 0T, T TOFHOBIY, W R.
4) Discuss the components of language development.
@ LIFTEIOD LSOBNYRY, WA

5) Write a note on emotional self regulation.
POIIZT FO300 JCI0T, €973 FOOBD €33 TOWD.

6) Explain symptom disorder.

cia)erx’@g NS e;e:gdé@m% WA,

%
PART -C

Answer any four of the following. Each answer carries eight marks.
OIRRYTTITR T, B,INCT YU, B,305000 YVBTER, DO S0BND.

1) Explain anxiety disorders in childhood.
WY, T SBOBE @xdx@ém?s% DWOR.
2) Explain any 1 cognitive theory of child development.

MRS WSRO0 E8RTYTITTR 2,0T0 MO TITT AT 0TI, IWOA.

3) Discuss the stages of prenatal development.
T, NDTPTE WFTEIROD TOSNTI), IF A

4) Explain chromosomal abnormalities.
TEIEFBOBONT eﬂ&mémﬁa’% QWOA.

‘5) Explain perceptual development in childhood.

BT TWHOD 7, &oBo LIFIEIR0IDTY VTR

6) Describe basic emotional development in detail.
eIt xoﬁeméj zj%fwséﬁab?ig{ QDTN TEIF .
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(4x5=20)

(4x8=32)



